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#HexkX (1) —RECHEBDHE—

(x+2y)? =x* +dxy +4y* (B
2x+y)2x—3y) = 2x(2x — 3y) + y2x — 3y)

=dx* —4xy -3y* (B
(@a—b+c)’=a®>+b>+c®-2ab—-2bc+2ca (&)
(x=2y-22 =x*+4dy* + 22 —dxy +4yz - 2zx (D)
(x =20 (% + 2xy + 4y?) = x° = 8y (%)
(3a —2b)(9a* + 6ab + 4b%) = 27a> — 8b> (%)
(a+b)d®>—ab+b*) =d’ + b

(a=b)d®>+ab+ b =d’ - b

THHNPH,

(a+b)a-b)a®+ab+b>)a®—ab+b*) = -b)d +b)
=a-0* (B

(2x = 3y)? = 8x3 — 36x%y + S4xy* - 27y (%)

At~ 88 + 62 = 28227 —4x +3) (%)
9a*b*c — 12abc® + 3abc = 3abc(Bab —4c +1) (%)
4 —4x+1=2x =12 (&)
K2 —12xy+36)2 = (x — 6y (&)
2502 + 20ab + 4b? = (5a + 2b) ()
9x% — 16y = (3x)* — (4y)?
=@Bx—-4y)3x+4y) (&)

8 +1=02x°+13
=Qr+1D@x*-2x+1) (B
27a* — 64b° = (3a — 4b)(9a® + 12ab + 16b%) (&)
84>~ 12a% +6a—1=(2a)° =3 -2a-1+3-(2a)- 12— 1?
=Q2a-1° &
x4 _ 16 — (x2)2 _ 42
= (- +4)
—(x=-2)x+2)x*+4) (&)
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(11)

(12)

8 —48 = (% -+ 12)
=x=-2)x+2)x*+12) (&)

2=y = =y + )
= (x =) + xy + )+ ) = xy +y7)
= (x —y)(x + ) —xy + Yy +xy + 3P

(3] () 222 +3x+1=Qx+D(x+1) (&)

2 1 1
1><1—>

— 2

3

2) 22+ -5=x+52x-1 (%)

1 5 — 10
2><—1—>—1

9

B)4x2—4x-3=QRx+1D2x-3) (&)

2 1 — 2
, o< s

_3 —_

—4

4) 8x> —Txy—18y? = (x = 2y)8x +9y) (&)

&)

(6)

1 -2y — —16y
8 >< 9 — 9y

_7y
8a® — 50b% = 2(4a> — 25b%)
=22a-5b)2a +5b) (&)

3x° — 6x% —45x = 3x(x* = 2x — 15)
=3x(x = 5)((x+3) )
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(5] (O

2

3)

“)

Y+ 2y +x+y =X +2xy+ Y + x4y

(x+y)° +(x+y)
=@x+yx+y+1) (&)
a® + 2ab + 3a — 3b* + 25b — 28 = a* + (2b + 3)a — 3b> + 25h — 28
=a®+Q2b+3)a+Bb-4)(-b+7)
={a+Bb-MHHa+(-b+7)}
=@+3b-dHa-b+7 &)
332 =292 = 5xy+ x4+ 5y =2 =3x> + (=5y + Dx—2y* + 5y -2
=38+ (=5y+ Dx+ (y=2)(-2y+ 1)
=@x+y-2(x-2y+1 (%)
28 +xy 4+  =3x=3y+2 =y +(x—3)y—2x> - 3x+2
=y +(x=3)y+(—x-2)2x-1)
={y+QCx-DHy+(-x-2)}
=QRx+y-D(-x+y-2) (&
ab+ab®+a+b—ab—1=(a*h+ab*—ab)+(a+b-1)
=ab(a+b-1)+(a+b-1)
=@b+@+b-1) (&

O+ x+ D= x+ D) =07+ D+ + 1) -
= +1)2 -5
=x*+x*+1 &
(a+b+c+d)a+b-—c—-d)={a+b)+ (c+d)}{(a+b)—(c+d)}
=(a+b)’—(c+d)’
=a*+ b —c*—d®*+2ab-2cd (%)
(x=Dx=2)(x=3)(x—4) = {(x - Dx = DHH(x - 2)(x = 3)}
= (2= 5x+4)(x* - 5x+6)
= (&% = 5x)% + 10(x* — 5x) + 24
=x*—10x* +35x* - 50x +24 (%)
x=2)x=-Dx+3)x+6)={(x—D(x+6)}{(x—2)(x+3)}
= (P +5x-6)(x* +x—6)
={(® - 6) + 5x}{(:* - 6) + x]
= (x% = 6)% + 6x(x> - 6) + 5x°

=x*+6x®-7x*-36x+36 (%)
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f6] (D)

2

3)

“)

&)

(6)

(71 (1)

@)

3)

(2a-3)* —4b*> = 2a -3 - 2b)(2a - 3 + 2b)
=Qa-2b-3)Q2a+26-3) (&)

Bx+2?=C2x—-1?={Bx+2)+ 2x— DHBx+2) - 2x— 1)}
=Gx+Dx+3) &)

P+ D=4 = (P +1 =200 +1+2%)

=@-D*@x+1)* &

(2 4307 = 27 +30) - 8 = {7 + 3x) — 4}{(x? + 3) + 2
= (> +3x—4)(x* +3x+2)
=(x—-Dx+4dHx+DH(x+2)
=x=-Dx+Dx+2x+4 (&)

x(x+Dx+2)x+3) -8 =x(x+3)(x+ D(x+2)—-8
= +30)( +3x+2)-8
= ()c2 + 3)6)2 + 2(x2 +3x)-8

=2 +3x+dHE*+3x-2) (&)

(P +4x+3) (> —6x+8)+24 = (x+3)(x+ D(x = 2)(x — 4) + 24
={x+3)x-DH{x+DH(x-2)} +24
= —x-12)(x*—x-2)+24
= (2 —x)? =142 - x) +48
= -x-6)(x*—x-8)
=(x-3)x+2)(*-x-8) (&)

el =t 20+ 142

=+ 1) -

= -x+DE*+x+1) (&)
3 rd=xt A 14 -4

=(® +2)F - x?

= =x+2)x*+x+2) (&)
-T2+l =x 2+ 1947

=2 +1)2 -9

=2 =-3x+DE*+3x+1) (B
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(8] (1) © Ayt = ()’ - 20
= -28 (&)
@ X +y = (x+y)?® -3x%y - 3x°
= (x+y) = 3xy(x+y)
=a’ - 3ap (%)

® (x=y)7 = (x+y)° —4xy
=’ =4 (&)
® 1,1 _x+y
X y Xy
-5 @
® 1,1 _ X+
2 2y
o =28
- (%)
® l+£_x2+y2
Xy  xy
B o -28
B
2
-2 2 ®»
B
2 © x+y+2) =2+ + 22 +2(xy + yz+ 2%)
L BDD,
x2+y2+zz=(x+y+z)2—2(xy+yz+zx)
=32-2.4
=1 (&)
® x3+y3+13—3xyz=(x+y+z){x2+y2+zz—(xy+yz+zx)}
LR BEDD,
x3+y3+z3=(x+y+z){x2+y2+z2—(xy+yz+zx)}+3xyz
=3(1-4)+15
=6 (%)
[9] (1) Ra+b+2c—d)(da+2b—-2c+d)

={(2a + b) + 2c — )H2Qa + b) — 2c - d)}
=2(2a + b)* + 2a + b)(2c — d) — (2¢ — d)*
=8a® + 2b* — 4¢* - d* + 8ab + dac - 2ad + 2bc — bd + 4cd (B
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2 (@ + ab + b*)(a® — ab + b2)(a
={(@ + b2)2 2b2} (a
=(a* + a®b* + bH(a* -
=(a* + b*)* - a*p*

=a® + a*b* + BB

Z 4+ b4)

=®

=]

(&)

(3)
R {(x_y)z _Zz}

=+ = (- )

=2xy (%)

[10] (1) x—z=A, y—-z=B &BL L&,

(x—z)3+(y—z)3—(x+y—2z)3 =A3+B -
= —3A%B - 3AB?

Q) x+1)?=X, (x-12=vy&BL,

2+ D+ 2(x = D+ 52 — 1)?

2+ b

24 b4)

XAy - —(x—-y+2)x—y—-2)

(A + B)?

—3AB(A + B)

“3x -2 -x+y—-2z2)0 (

=2(x+ D +2(x = D* +5(x + DX (x -

=2X>+2Y% +5XY
= (2X + Y)(X +2Y)
=(Bx* +2x +3)(3x* = 2x + 3)

2
(il m x2+%=(x—l) +2
X X
=224+2=6
ThY, T2
(2 )
X 2 (x . x+1+x2
=2(6+1)=14
THoLHMD
3 > 2 1 _ 3 1 2 1
x =2 —?—?—x—?—Z(x +?)
=14-2-6
=2 &
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2 © (x+JJ2=x2+J;+2

X X
=7+2=9
x+l =43
X
L HDT
x3+L=(x+L)<x2—l+L)
X3 X X2
=+3(7-1)
=+18 (&)
© G5+—L)@2+—L)=x5+x+l—+—L
X3 x2 X X

Db 2 kMY IUL,

s 1 _ (3,1 2, 1 1
X +F—(X +?)(x +7)—(x+;)

=+18-7%3  (BEF[ENH)
= 1(126 - 3)
=123 (%)

Xy +yz +zx
xyz
-2 @
® x2+y2+zz=(x+y+z)2—2(xy+yz+zx)
=6>-2-11
=14 (B

©) x3+y3+z3=(x+y+zﬂx2+y2+z2—(w+qm+z@}+3@z
—6(14—11)+18
=36 (%)

(121 1) © §+

1,1
y z

@ oyt et =(x2+y2+z2)2—2 (x2y2+y2z2+zzx2)
THhh, 72
Y+ + 2 = (xy + yz+ 207 = 2xyz2(x + y +2)
ThbILrb,
x4+y4+z4—(x +y +z) —2{(xy+yz+zx)2—2xyz(x+y+z)}
=147-2(117-2-6-6)
=98 (&)
2) xy+yz+zx=%{(x+y+z)2—x2—y2—zz}
-
=0 (B
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nHIZERE
(1] (1) (x—y+2*={(x-y) +z
= (x—y)2+2(x—y)><z+z2

=x?=2xy+y  +2x7-2y2+ 72" (%)

2) (x=y+2?-(x+y-2)?
=Hx-y+)+Gx+y-Hx-y+2)-(x+y-2)}
=2x(-2y + 2z)
= —4xy + 4xz €2))

(3) 2x+y-22x-y+2)

={2x+ (- 2H2x - (- 2)}

=20 - (y—2)

=4x’ -y -2+ 29z (&)
4) Cx+D2x+3)2x+52x+17)

=(2x + 1)(2x + 7)(2x + 3)(2x + 5)

=(4x> + 16x + 7)(4x* + 16x + 15)

=(4x> + 16x)> + 22(4x* + 16x) + 105

=16x* + 128x° + 256x% + 88x> + 352x + 105

=16x* + 128x> + 344x? + 352x + 105 (%)
(3) Qx-D@x>+2x+1)=2x)°-1°

=8x*-1 (&
(6) Bx+2y)° = B3x)* + 3 x (3x)* X 2y + 3 x 3x x (2y)* + (2y)°
=27x + 54x%y + 36xy? + 8y° (&)

[2] (1) 6x2-x-2=CBx-2)2x+1) &)

3 2 — 4
2><1 3

—

6 -2 -1
(2) 1222 + xy - 6y> = B3x = 2y)dx + 3y) (&)

3 2 — -8
. o< ;

3 —

12 -6 1
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3) (x=y)7+5(x-y) -6
—(x-y+6)x-y-1) (&)

“) 12a* - 6bc — 9ca + 8ab
=3a(4a - 3c) + 2b(4a — 3¢)
=4a - 3c)Ba +2b) (&)

Q) K —xy—6y*+x+Ty-2
=x> —(y—Dx— (6> =Ty +2)
== (y—Dx—(Q2y-DGBy-2)
={x =GBy -2DHx+ 2y - D}
=(x=-3y+2)x+2y-1) (&)
(6) (@ -3a-3) @ -3a+1)-5
=(A-3)A+1)-5
=A>-24-8
=(A-4)(A+2)
=(a* - 3a - 4)(a* - 3a+2)
=(a-dHa+D@-2)a-1) &
(7 (x+ Dx+2)(x+3)(x+4)-120
=(x+ Dx+dHx+2)(x+3)-120
=(x% + 5x + 4)(x* + 5x + 6) — 120
=(A +4)(A +6) — 120
=A% + 10A - 96
=(A - 6)(A + 16)
=(x? + 5x — 6)(x* + 5x + 16)
=(x-Dx+6)x*+5x+16) (&)

®) (x+2y)° = 2x - y)’
={(x +2y) = Qx = MU + 290" + (x + 20)(2x = y) + (2x = y)*)
=(—x + 3V)((2 + 4xy + 4y%) + 227 + 3xy — 2)°) + (4x% — dxy + %))
=3y —x)(7x* +3xy + 3yY) (B

© =532 +4
=(x* = (x> — 4)
=x+Dx-Dx+2)x-2) (&)
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(10) O
:(x3)2 _ 12
=+ D=1

=x+DE*-x+Dx-DE*+x+1) (&)

(3]
x+y=(V5-V2)+(V5+ V2) =25
xy=(V5- V2)(V5+ V2) =3

THLND,
(D 5
l+l:x+y:i (’g)
x oy Xy 3
(2) K +y' = (x+y) - 2xy
=2V57%-2-3=14 (&)
(3) X +2%y+2x° +y = (x+y)° — xy(x +y)
=40V5-6V5
=34Vs (%)



28 FHERX 2) —HEdEE 2ERS -

RARE
o ‘s ®
xl=1 L EETD ey 13-x| =
2 (x=2)
5 (x=5)

2 O x+120%fE L x=2 -1 THEND,

|x+1|={x+1 z-D

¥

-x-1 (x<-1)
@x-120%@< L x21,
x+320% x> -3THoHrhb,

(i) x<-3DL %
[x=1|+|x+3|=—-(x—-1)-(x+3)
=-2x-2
(ii)) 3sx1DEZ
[x=1]+[x+3]==-(x-1)+(x+3)
=4

(i) 1 <x D& X

[x=1]+|x+3]=(x-1D+((x+3)
=2x+2

PDEXD,

-2x-2 (x<-=3)
lx=1|+|x+3| =1 4 (-32x=1
2x +2 1<x)

[2] (1) RS TFIC V51 %2215 T

o 2(V5-1)
N (V5+1)(V5-1)
2(V5-1)
-
V5-1
= 3 (&)

(x =—4)
(x =-1)
(x=2)
(x=15)

N =R

(&)



Q) ST ANB+ 1 22T

V27+3 (\/ﬁ+3)(\/§+1)
N (V3-1)(V3+1)
3(\/§+1)2
-—r
-6+3V3 (&)

3) FEGTIZN2-1 %2215

V8+1 (VB+1)(v2-1)

V241 (V2+1)(v2-1)
=(V8+1)(Vv2-1)
=3-V2 (&

4) 5T V6 + V3 22T

(31 (O

@)

3)

V3 (Ve V3)(Ve+ V3)
_3V2+3+2V3+ V6
3

‘/5+ 2‘/§+ ‘/6
3

Vi Ve _ (V3+ V) (V6 + V3)
V6 —

=1+

\/8+2\/1_= \/(3+5)+2\/3>< = \/(«/§+ V52 =V3+ V5

\/10+ \/8_=\/10+2\/2_= \/(3+7)+2\/3><7
=(V3+ V72 = Y3+ VT (&)

7 \/m Jorn+2vixT  (Va+ VIR
2+ V3= 3 = 75 _ 5

V3+l o V2(V3+1) - Y2+ V6

V2 V2x V2 2

2-2
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=
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“4)
Jg+4V4+sz=‘J9+4Je+1)+2V3x1
= \/9+4\/(\/§+ V12

- \/9+4(\/§+1)= \/13+4\/§
::JB+2VT¥=J0+12+2V1xu

= {1+ V22 =1+ V12

-1+2V3 %)

(4] (1) a, b 1 ZHBE, V5 ZEHRETHLH,5, a=3,b=-2 (&)
@ B+ V)a+(1-2V3)p+3V3-5=0
Ba+b-5)+@-2b+3)V3=0
ST, a, b IHEEE V3IZERETHL NS,
{3a+b—5=0
a-2b+3=0
Nz fHNT
a=1,b=2 (%

[5] (D) AR ax>a+1---(x) IZBWT, aDEIZL>THEEZDITA.
) a>00r % () DWMA% a TH-T, KDL

mzl_’_l

a a
(i) a=0 DL &

x>

(x) = 0-x>1

CNERIZTER X L R\,
(i) a<0 D& X, () OB % a TEH- T, RKOLFI

mzl_’_l

a a

DLy, Ko

x <

x>1+% (a>0DEZE)
BE L a=0DEE) (%)
x<1+% a<0DEZ)

2-3



(2) NS
axzx—a+1 < (@-Dxz—-(a—-1)
IZBWT, a-1DMHEIZE > THEETT 5.
HDa-1>03bba>10L X,
AEX #) OMB%E a—1 TEH- T, KB
x= -1
) a-1=03%bba=1Dt X%,
# <= 0-x=20
CNRITEEOFER x 12 LTS 5.
(i) a-1<09nbba<l DL X,
ANEX #) OMBE a—1 TEH- T, KB
x< -1
DB, KB
xz-1 a>1D&%)

EEOEH @=10c%) (B
x$-1  (a<1DEX)

6] x = “TZ 1 FERICHRATSE

2 2

R N oy e Cans

4 4

=—J%§+a+l—~¢%§—a+l
-\ -5

L7AoT
() as 20k &

) =—(L+1)+(£-1)=-

(i) 2<a<2nkx

=[50 (5o
(i) 2<a Dk %

=[5+

(N1
[
—_
S—
I
o

2-4



£oT

as 20Dk %, -2
2<as2DLE, a &)
2<adt i, 2

(7] 1<V2<2X&h,
2<V2+1<3
WZIZ V2+ 1 OBEE  alx, 2 TH5.
£oT, b=(V2+1)-2=V2-1Thohb5

1 1 V2+1 N

booNa-1 o (V2-1)(V2+)

2<V2+1<3ThHirrb,
)

1
b

a=2 %@%@%ﬁ=2 (%)

(8]
X 0=y \
[x| = Thobnrb, Gt
-x (x<0)
[x—-1] (O=x
||x|—1|={
|-x—=1] (x<0)

Yhb, ZIT, 0<xIiiBVT
_jx=1 (1=x)

)l -x-1) ©O<x<1)
Thh, £72, x<0I12BVT

x+1 (-1<x<0)

|—x—l|=|x+1|={
—-(x+1) (x<-1

Thsb. ®zIZ,
x—-1 1=sx)
-x+1 0=x<1
x| -1]= 0= ) &)
x+1 (-12x<0)
-x-1 (x<-1

2-5

DEFERITZ2 TH 5.



[9] Xkt HHILT 2 &

1 _ V11 +3 _ Vi1 +3
VIT-3 (VT -3)(VI1+3) 2

ST T3 VIT<4 D, 3< ‘/1_12” <L et ams SROBHM

3@

[10] 2vV6 = V24 &©
4=vV16< V24 < V25=5
Wz 12

4+4<:4+2V6
3 3 3

2-6



inHIERRE

ool v4
@ _‘/?’ 1’ 0’ ‘/Z
® 012, -V, 1, —%, 0, Va4
@ 2\/3, 1

V2
2) © x=0.063 LB E

100x = 6.36363 - - --

_ > x=0.06363------
9P9x = 6.3
_63__7 DS

=99 "~ 110 (&)
@ x=0.063 LB

1000x = 63.063063

- ) x= 0.063063--

999x = 63

[2] () x23dDE &, x+2>0,x-32040,
[x+2]=x+2, |[x=-3|=x-37»5
[x+2]+]x=3]=x+2)+(x-3)=2x-1
2<x<30EE, x+220,x-3<0&D,
Ix+2]=x+2, [x=3] = ~(x=3) b
[x+2|+]x=3]=x+2)+{-(x-3)} =5
xX<-20r % x+2<0,x-3<0XD,
[x+2|==(x+2), [x=3|=-(x=3)ZH»5H
[x+2|+|x=3]=-(x+2)+{-(x=3)}=-2x+1

x2Z3NDEE 2x -1
(BR 22x<3ne 5
x<-2ND&E —2x +1

2) xz220EE, 2x+1>0,2-x204&D,
[2x+1|=2x+1,|2-x|=x-27215

12x+1]=[2-x]|=Qx+1)—(x—2)=x+3

2-7



—%§x<20)}:§, 2x+120,2—-x>0 X0,

[2x+1|=2x+1, |2—-x|=2-x72D5
[2x+1]—-]2=-x|=Cx+1)—-2-x)=3x-1

x<—%0)2:3&, 2x+1<0,2-x>0%0.

12x+1]=-Qx+1), |2-x|=2-x 7275

2x+1]=|2-x]=-Q2x+ )~ Q2-x)=-x-3

XZ20DEE x+3
() —%§x<20)é:% 3x-1
x<—l0)<‘:% -x-3
2
(31 (») 2
Vi+vi_ (B5+V3) gi0vis

G T (v T 2 e ®

@ 5+\/§:(5+\/§)(\/§_1):4\/§:‘/§ (=)
s+l (VE+1)(VE3-1) 4 -

[4] (1) {7+2VI0= 5+ +2V5%2= (\5+ VD2 = VE+ V2 (&)

) \/8_4(: \/8_2\/1— _ \/(6+2)—2\/6><_2

= J(Ve-V2r=VY6- V2 (%)

5] Va@+2v2b+1)-3=0
V2a+4b+V2-3=0
(a+DV2+4b-3=0

£oT
a+1=0 O,
4b-3=0 NG

® ® L, a=—1,b=% )

=)
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38 2KREH (1) —2KkEHDTZ7—

i

(1] (1) fo =

(2) f0) =

3) fx) =

iFa)rfs)efg) e gl @
2] D) y=fx)=2x-1%b, I 7I13HKX. "
JED=2x (=) -1=-3
fh=2x1-1=1
_150 1
3<ys1 /\—1
@) y=f@)=-x+2&V, 777 EHR,
Y
f2)=~(-2)+2=4 N
f2)=-2+2=0 |
N
—_2 O X
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